@ 3x2=1 @ 4(x+1)(x-2)=4
® x(x-1)(x+3)=4x @ (x+4)(x-2)=>5x+7

@ P -4dx+6=x3+x2>-1



3x

(x=6)(x-1)

.

ul

-

ul



3. olATAA 2%+ (k+2x+1=00°] FZ&7HE W, k O A

Tola

@D -1+ V2 @ 1+ V2 ® -2+ 12
@ -1+2v2 ® -2+2v2



o] z}HFA] Al — a9 5L
0] ]-]_00 o/% 3(X 4)2—15—09’] 1 2
o —I—. Sx=a+ VLT, q b

YERE









7.

Ol X2 —8r—A = 0 o] % 9]

A, B °] gt& st

A=



8. A7t Rl oA A, 2 - 6x +a =09

}_
o, a O] Gf2?

oli
ry

r

o]3-+v2¢

@ 3 @ 4 ® 5



O y=2x+1
1
®y=-
X

@ y=x*-x+1

@ y=(x+1)2-x



o

HA f(1)+f(2) o ghez dure A

9|

x2—x+10f

= f (%)

TR

@ 2 ® 3 @ 4 ® 5

D1



® y=-3x2

@D y=4x?

@ vy

1
4






13. olZa4y = ax? +4 ¢ D7} Ohg TR L 1), a, ¢ ) F57}

52 AL
YA
0 >
T
®a>0g>0 @ a>0,g<0 ® a<0,g>0

@ a<0,g<0 ® &4 i



14. o 293} Zo] HA
Ao AZy=a(x-p)?olzt

7F(-1,0) o], y o] 2 7] 25

M, a 9] gh& -5tofz=t.

o
lo
1
=

yl\
y=a(z—p)”
/ 2
-1 |O z




15.

= _2(x+5)2 -4 9] AL BAGO| HEE (a, b),
e, a-b+c o G Farolat



[e] [}
G2 A2

o)

Z

< &7

a7y

Ty=ax*+bx+c 9

S}
=}

16. o= ol#t

ol

=]

NFEo R 39 o

TR
—_

G
<
Y

~d
I
)
H|

G}

Tod
=

5%
<
T

i

olJ
N

—

__.AO

ol

TR
~



17. AH =28 F0RFLE (0, -2), (-1, 8) & A

SOREY,

@ y=(x-2)2-10
® y=2(x-2)2-10

® y=2x%2-2

@ y=(x-2)2%+8

@ y=2(x+1)2+8

1



18. t= oAt F F%ghol -

D y=x*+2x
® y=-(x+3)2+2

®y=x*4+2x+1









1@0
N

15

ol 2770 <1 ot

?
olJ

B
~

N
A

,,._mo
~

o
.



22. A7F50]al Ho] 104% F A A, B7F e i, A2 - B2 9] gL2?
(h, A > B)

@® 95 @ 100 ® 105 @ 110 ® 115



30cm o £0.2 AAZLES S| o7} sdem? 7} w7 el
giet, o] AAzg el staet Alze] Zole] 2

D 1lcm @ 2cm ® 3cm @ 4cm ® 5em



24.

wmA A FEA (2, 1) 0], y Z7te] wA Q] FE} (0, 9) 2 0|2}
Ao Ay =ax? + bx+ ¢ 9 EZ YERYHA?

@y:x2_6x—|—9 @y:2X2—8x+9

® y=3x2-10x+9 @ y=-222+9

® y=-3x+11x-9



® y=-x2+6x-8 @ y=x>+6x-8



